thg 97} o] AABC o4 H 0 & ldolh. W] uha ol
3cm O|1, AABC 9] Wol7h 36cm? 9 m), AABC 9] S29] Zolg
ot

A

0

@ 9cm @ 12ecm @ 18cm @ 21lecm ® 24cm



2. TS IYolA AB L €90 9] X201, 0= AABC 2] 949, A0’
(o) o
© AABC O oIt} 5 9 0,0 o] ¥r1 2] Zol7} 217} 3em
lem® 1], AABC 9] H0]=9 ’

® 6cm? @ 7cm? ® 8cm?

@ 9cm? ® 10cm?



—

72cm €

09

E bem 22l 5HAL a + b O] Fh

¥l Zo]

@ 10 ® 18 @ 32 ® 40

@ 8



the ] A12+4 pABCD 9 oEFGH of|
5lo] DABCD <o OEFGH o] 1, &-2H|7}
1:2 9uf oEFGH °] E39] Zol9] g-&
a ¢t b 2 A JeEbd 227

® 2(a+0b) @ 3(a+b)

® 4(a+0b) @ 5(a+b)

® 6(a+0b)

. -Q- >

(o)



5. DABCD4 AD//BC©]il 2AE = BE, AD = 6cm , BC = 15c¢cm
o o, MN o] Zo]=?

A 6cm

@ 1lem @ 2cm @ 3cm @ 4cm ® 5cm



6. o2 1¥° mABCD |4 AD//EF//BC, AE : EB =2 : 3 0|1,
AD = 6cm , BC = 15cm € 1], PQ 9] Zo]=?

12
® gcm @ —cm ©) & om
—cm ® 6cm



7. o= "4 AB // PQ // DC, AB =
10,PQ =6 ¢ o, x o] 3t2?

O 12 @ 13 ® 14
@ 15 ® 16




8.

2 1o A AB//EF//CD Y W, x +y2] Zo]=?

A
/
D
? B
l\ B 3
B<-~y---F_.-C
Yook
22 23 24 26
oy @3 05 @



9. oL ¥y} Zro] AB = AD,AE = EC ¥ D
o, 2x —y 9] 3427

o0 @1 ®2 ®3 G4




10. o5 2139 AABC o4 A D,E & 42 AB,AC ] T3], A

=
F,G = 27 BE,CD 9] $3olt}t. BC = 20cm € W, FG 9] Zol&
at=A] 3 A2?

A

B

A
~ Pl S

T=-20ecm-""

@ 5cm @ 6cm ® 7cm @ 8cm ® 9cm



